Repair Parts
8453-F11J-63ABCPT

Touchless emergency eyewash with faucet

CHICAGO
FAUCETS.

Geberit Group

Gooseneck Spout with Eyewash
8453 Spout Assembly

O-RING #011
[243.392.AB.1
o -

(0

PR —

1= (]
= (U

o
I
I
I
I
I
I
I
i
I
i
I
I
i
i
I
I
I
I
I
I
I
I
i
i
i
i
I
i

\KIT, SS BRAIDED
HOSE (QTY 1)
240.693.AB.1

i i

—FILTER/SCREEN |
3300-005JKABNF |

§—TEPID WATER HOSE
8400-030KJKABNF

L i

E\KIT‘ SS BRAIDED HOSE
EVR-003KJKNF

|
L
M{_____LO-RING, #12

1-099XKJKABNF
% ! BODY VALVE

DUST COVER FOR EYEWASH
; 8400-004JKNF (1 PER)

KIT, EYEWASH AERATOR
8400-028JKABNF

EYEWASH SUB-ASSEMBLY
8400-020KJKABNF

"1 _BUTTON, COVER

¥ 3500-005JKCP BADDLE

8400-021JKCP

~ 18400-027JKABNF

/@ .‘U
RETAINING CAP

8400-023JKCP

&BUTTON
3500-005JKCP

PADDLE SCREW
8400-022JKNF

RH CERAMIC CARTRIDGE

(NOT SOLD SEPARATELY)

\
|

\

\

\

: KIT, DECK MOUNTED

HARDWARE
171-PPJKNF

I
—————d

Mounting Flange and IR Sensor
8453 Series Spout Base

EYEWASH GASKET
» 8400-029JKNF

ESCUTCHEON
(NOT SOLD SEPARATELY)

2

MODULE ELR-EVR
ELR-001JKNFT g

IR MODULE BRACKET
WITH SCREWS 6-32 X 3/8
8400-033KJKNF

~—ALIGNMENT RING
WITH SCREW 6-32 X 3/8
8400-031KJKNF

™_MOUNTING POST
WITH GASKET
8400-032KJKNF

(- {(((
[—

2.2 GPM (8.3 L/min) Vandal Proof S
E12VPJKABCP

oftflo Aerator

/  3-024JKRCF

~VANDAL PROOF KEY

For Technical Assistance:
Phone: 800-TEC-TRUE (832-8783)
Email: techsupport.us@chicagofaucets.com

2100 South Clearwater Drive
Des Plaines, IL 60018
Phone: 847-803-5000

chicagofaucets.com



. CHICAGO
Repair parts FAUCETS.

Touchless emergency eyewash with faucet Geberit Group

ELR-63KJKABNF ELR Series Control Box, LTPS, Dual Supply, Thermostatic Mixer
Base Parts:

SCREW, #8x1-1/4" KIT, LONG
LONG PLASTITE TYPE LIFE BATTERY
(NOT SOLD SEPARATELY) /  243.869.00.1

BATTERY
243.867.00.1 |
SOLENOID VALVE :

243.152.AB.1 L. . .
. ADAPTER CABLE
I_ —I .. 243.870.00.1
[ : 'r I BONNET HEX SCREW
‘ : M4x0.7x16mm
B 1 . /)/(NOT SOLD SEPARATELY)

- KIT, REBUILD
N \*" FOR DS 1070
#® " 243.156.AB.1

KIT, CONTROL BOX
HARDWARE

243.158.00.1 ¢ Z)) o
& 2 &
- O-RING #011, DRINKING
g WATER COMPLIANT
/- @.” % __(NOT SOLD SEPARATELY)
, ~ o~ INLET SUPPLY HOSE
o, , "

T~ 243.157.AB.1
.. J .. k

CHECK-CARTRIDGE
550-009KJKABNF

KIT, SEALS ’-g ;
AND CHECKS
243.159.AB.1 FILTER/SCREEN

3300-005JKABNF

FOT Tec h n | Ca| ASS | stance: 2100 South Clearwater Drive
: Des Plaines, IL 60018

Phone: 800-TEC-TRUE (832-8783) Phone: 847-803-5000
Email: techsupport.us@chicagofaucets.com chicagofaucets.com



